



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$(5 + \frac{3}{2})^2 - \frac{3}{4} \times 5^2 - \frac{1}{3} =$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{2}{5} + (\frac{1}{2} - \frac{1}{2})^2 =$$

$$(\frac{1}{3} - \frac{1}{2})^2 + \frac{3}{5}(\frac{3}{2} + (\frac{1}{4})^2) =$$

$$(\frac{3}{2} - (\frac{1}{5})^2) \times \frac{1}{3} - (\frac{1}{6} + \frac{1}{4})^2 =$$

$$(2 - \frac{1}{5})^2 - \frac{1}{2} \times \frac{2}{3} + 2^2 =$$

$$(2 + \frac{1}{3})^2 - \frac{1}{2} \times \frac{3}{2} - 3^2 =$$

$$(\frac{1}{6} + (\frac{1}{2})^2) \times \frac{1}{3} + (\frac{1}{3} - \frac{2}{3})^2 =$$

$$(3 - \frac{2}{3})^2 - \frac{1}{2} - \frac{1}{6} - 3^2 =$$

$$(2 + \frac{2}{3})^2 - \frac{2}{3} - 3^2 - \frac{2}{5} =$$

$$(\frac{2}{5} - \frac{2}{5})^2 + \frac{3}{2}(\frac{1}{6} - \frac{3}{5}) =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$(5 + \frac{3}{2})^2 - \frac{3}{4} \times 5^2 - \frac{1}{3} = \frac{139}{6} = 23\frac{1}{6}$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{2}{5} + (\frac{1}{2} - \frac{1}{2})^2 = \frac{1}{10}$$

$$(\frac{1}{3} - \frac{1}{2})^2 + \frac{3}{5}(\frac{3}{2} + (\frac{1}{4})^2) = \frac{139}{144}$$

$$(\frac{3}{2} - (\frac{1}{5})^2) \times \frac{1}{3} - (\frac{1}{6} + \frac{1}{4})^2 = \frac{1127}{3600}$$

$$(2 - \frac{1}{5})^2 - \frac{1}{2} \times \frac{2}{3} + 2^2 = \frac{518}{75} = 6\frac{68}{75}$$

$$(2 + \frac{1}{3})^2 - \frac{1}{2} \times \frac{3}{2} - 3^2 = (-\frac{155}{36}) = (-4\frac{11}{36})$$

$$(\frac{1}{6} + (\frac{1}{2})^2) \times \frac{1}{3} + (\frac{1}{3} - \frac{2}{3})^2 = \frac{1}{4}$$

$$(3 - \frac{2}{3})^2 - \frac{1}{2} - \frac{1}{6} - 3^2 = (-\frac{38}{9}) = (-4\frac{2}{9})$$

$$(2 + \frac{2}{3})^2 - \frac{2}{3} - 3^2 - \frac{2}{5} = (-\frac{133}{45}) = (-2\frac{43}{45})$$

$$(\frac{2}{5} - \frac{2}{5})^2 + \frac{3}{2}(\frac{1}{6} - \frac{3}{5}) = (-\frac{13}{20})$$